1.

1=
A 7We] A& 70, 75,65, x 2] Bo] 70

‘:-
Qe

e



AETE

o

o

W

o) Wad 7] 7]

A 50 o] Wad 7772

ol
Eo

of

St
ol

ks

oltt. o]

10 20 30 40 50 60 (m)

()

20

18

16
14
12
10

0 © =+ NN O

@ 30.4m ® 32.2m

@ 28.6m

B 34.6m

@ 33.4m



A, B, C, D, E Q1 5 9] g4 9] o A7 45 et
| A= o] BARe?
SHA A B C D E
agFE) [ 72 | 75 [ 77 | 76 | 80
@ 54 3 6.2 @ 6.6 3 6.8



4.

Yl 4 a, b, ¢, d©] BT} 240

10)% + (c — 10)?

+ (d-10)2 9] 7k

@D 5 ® 10 ® 15



7A

ol mm
!

ol m_m
g Ne
for BO
No U
d] ol
r Y
A
23] W
o
T

76
8.2

80
6.9

73
4.8

70

&R

yd

o

Tor

o

o]
AR

1] 7] 5] 0]

= Fi7tolo] 714

he

(® 44to]



